
r1

C41OA23IT

I):i ll (iorr : 2 l/2['[;'s

Notc:- l) All qucstions are compulsorY'
2) I"igurcs to thc right inclicate ntaximum marks'

{ ) i \) \lrrltiple choice questions (An-V 8)

i r ,-,, process is to sLrpport the core business' {COU
r r \Lrpprrtirrg b) Operational c) Natural cl) System

is one o1'the bcrtef rts of BPN'I. {Ct)1}

Seat Number: -

Marks:- 75

r)
\giliLl, b) t)rofit. c) Goodwill d) Exeoution

ii , ontrrct u,ith cLrstctnters shor-rld always be satisfactory and -their exPectations

:i t)I)
r, \'l-:cl b) exceccl c) should not meet d) fbllow

I r111ll1 tct'izccl l\cctlLttrtitig svsterls ofl'er {co2l
, \1',cg i & l:l-ficiency b) Knowleclge c) Privacl' cl) (Jse

itil'S stuncls lbr {co3}
I lrlr:;lction I)roccssing System b) Ti'pical Processing Systelr

i cclr ricul l)rocersing Systcrn d) 'l'ypc Proc-essitrg Systern

,, is tfue collection o['organized clata rvhich plays a vital role for decisiorl

rrl.:.irrr,. iCO3)
, I )rr1l [r) lnfornratitirr c) Knovvledge d) Data Base.

is thc t1'pc o1'systern ALrdit. [(]041
l, ,i.,rrl r.Lrclit b) Compliarrce Alrdit c) Crecn ALrdit d) Rcd Atrclit

is aLrditirrg throLrgli con'rpLlter. {CO4}

(8)

(7)

fi)

.i, lll.re li llox Approach

,. l'lielilr gc Ap;lroach

'r I )l' ( onlrols inclLrcle

b) White Box Approach

d) ALrdit Approach

{CO,:t}
, \r,e rr;ilr (lontrol b) \/ierving Control c) ['erftlrmance Control d) Value (]tllltrol

is e shortcut liey to select a oompany in Tally. {CC)2}
c) I'i d) Ir4

l(t1

r,r \ltrll tr)Alt-ltr3

i.i ! ll) Statc u,hcthcr thc tbllorving Stzrtements lre 'f rue or False:- (An"v 7)

; )rill rlru,n clisplav is thc art o1'Basic Accor,trltitlg. {CO2}
' r rri,rrrillittrt clocs not bt'ittq lcars o1'.job cirts. {CO1}
I l,-'.rrrLrrce r'nanagcnrertt is not the advatltiige o1'[Jf']M. {CO1}
I ,irrLrr..e nrcut proccss clocsr"r't provide vtrlut: to cLlstolrler directly. {C()1.i
, . ll\ p-9r,icies pel'ioclic schcclulecj, exception and demand reports. {C03}
r, , lr,,t:li rligit vcr.ilication [)r()ccss uses aIgorithrls to ensure that c]ata inpirt is ilccLlrate. {C()4}

itirtr't coplpapies usc e6te t';-rrisc acetlitlltillg soltrvare. {C()2}
:, , i\ \ jtrn(is lirr Clcrtillccl lrlfbrrnation Systern ALrditor. {CO4}

i\1



9) F.xternal sollrce data ret'ers to l<norl'ing competitors data' {CO3}

l 0)'l'he clisaclvaltages ol out sourcing is secLrritl' copcern. {CO2}

Q2. Ansrver thc lbllou'ing

A) Irxplain Principles of BPM'? {COl (R)}

I3) IJxplain the borefits of BPN4? [COl (R)]
,OR

(i) llxplain in cletail aboLtt l'f ancl BPO? {COl (U)}

D) I)r'arv thc Pirrclttrsirtg [:lorv Chart'? [CO1 (U)l

Q3. Ansrver the {trllorving

A) Writc about thc creatittg voLtcher in 'l'ally ERP9? {CO2 (A)}

13) Write the f-eatLrres o1'a Cotlputerized Accoutttittg Systerr'/ {CC)2 (U)}

oll
(i) Write in cietails about the company features section in -fall1'I]lLP9?

{co2 (rr)}
D) tlxplain the advantagcs of AccoLrnting Soltrvare? {CO2(An)}

(]4. Ansrvcr tlrc ttlllorving

A) Ilxplain T1,pes of MIS? [CC)3 (U)]

13) [ixplain nreaning ancl ob.iectives of N4lS? {.CO3 (R)i
0lt

()) Writc ahout thc aclvantaqcs o1'MIS? {C03 (tl)}

D) Irxplain the role ol'NullS in I IRM? {CO3 (lf)i

Q5. Anslvel' the follorving

A) F.xplain approach to aLrcliting in CIS lltrvironnrerrt? {COa (A)}

l3) Irxplain the variorts t1'pes of I't'ALrdit'? {C()4 (lf)}
OR

C) Writc sltort ntttcs fbr thc lirllorving: (Any Thrcc)

l) CloLrd CompLrtirrg. {CC)4 (lf)i
2) t3enelits o1'Aucliting. {CO4 (lf)}
3) Architecttrre of AIS. {CO2 (U)}

4) llasic lnvctrtorY. [C()2 (If)]

5) Marl<etirrg MIS. {C03 (A)}
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